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Aufgaben-Quickname: 4922

Aufgabe 1

Berechne.

a) 151 + 86
151 + 76
6

237
227
151 +6 217

d) 737 + 50 = 787
737 4 60 = 797
737 4 70 = 807

g) 421 — 26 =
447
421 — 27 =
446
421 — 28 =
445

) 759 — 78 =
833
759 — 77 =
834
759 — 76 =
835

Aufgabe 2

Berechne.

a) 85 4 4 = 89
85 +5 =90

d) 85 + 5 = 90
85+ 6 =91
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b) 476 + 33 = 509 ¢) 370 — 57 =
A76 + 43 = 519 427
A76 + 53 = 529 370 — 67 =
417
370 — 77 =
407
) 9ll — 34 =  £)553 — 65 =
945 618
911 — 44 = 553 — 66 =
935 617
911 — 54 = 553 — 67 =
925 616
h) 116 — 12 = i) 619+ 58 = 677
128 619 + 68 = 687
116 — 13 = 619 + 78 = 697
127
116 — 14 =
126
b) 60 + 3 = 63 ¢) 38 +2 = 40
60 + 4 = 64 38 +3 =41
¢) 92 + 4 = 96 £) 84 + 6 = 90
92 + 5 = 97 84 +7 =91

Seite 1

Quic
4922

Qu
4922

k:

ick:



g) 57 + 3 = 60
57 +4 = 61

j)664+7 =13
66 + 8 = 74

Aufgabe 3
Berechne.

a) 565 + 20 = 585
565 + 30 = 595
565 + 40 = 605
565 + 50 = 615
565 + 60 = 625

4185 — 15 =
200
185 — 25 =
190
185 — 35 =
180
185 — 45 =
170
185 — 55 =
160

g) 903 + 33 = 936
903 + 43 = 946
903 + 53 = 956
903 + 63 = 966
903 + 73 = 976
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h) 90 4+ 7 = 97

90 + 8 = 98

b) 217 4 32 = 249

217+ 33 = 250
2174 34 = 251
217 + 35 = 252
217 + 36 = 253

¢) 599 + 34 = 633

599 4 44 = 643
599 + 54 = 653
599 + 64 = 663
599 + 74 = 673

h) 316 + 25 = 341

316 + 35 = 351
316 + 45 = 361
316 + 55 = 371
316 + 65 = 381
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) 83 + 6 = 89
83+ 7 =190
)20l — 81 =

282
201 — 82 =
281
201 — 83 =
280
201 — 84 =
279
201 — 85 =
278
£) 282 + 26 = 308
282 + 36 = 318
282 + 46 = 328
282 + 56 = 338
282 + 66 = 348
) 434 — 23 =
457
434 — 24 =
456
434 — 25 =
455
434 — 26 =
454
434 — 271 =
453
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j) 147 — 45 =
192
147 — 55 =
182
147 — 65 =
172
147 — 75 =
162
147 — 85 =
152

Aufgabe 4

Berechne.

a)d4 —6 =44
44 — 5 =45
44 — 4 =46
44 — 3 =47

d) 57+ 4 = 61
57+ 3 =60
57+ 2 =159
57+ 1 =258

g) 69+ 8 =77
69+ 7 =76
69 +6 =75
69+5="74

j) 98 4+ 4 =102
98 + 5 =103
98 +6 =104
98 + 7 =105

Viel Erfolg!
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b) 62 — 5 = 61
62 —4 =62
62 —3 =063
62 — 2 = 64
¢) 35 + 5 = 40

35+4 =39
354+ 3 =38
35+2 =37
h) 44 — 7 =45
44 — 6 = 46
44 — 5 =47
44 — 4 = 48
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¢)8+7=95

88 +6 = 94
88 +5 =93
88 +4 =92

£)43 — 1 =44
43 —2 =43
43 — 3 = 42
43 — 4 = 41

) 1746 =23
17+5 =22
17+ 4 =21
17 +3 =20
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